Mother's Arithmetic * Compound Interest

Compund interest (Type-2)

A sum becomes ¥ 1352 in 2 years at 4% com-
pound interest rate. Find the sum?

T I 4% aNfie =Tshgis = & R W, 2 9691 # T
1352 BT It § | erifer 3ma e ?

(A)T 1250 (B)T 1200

(€)X 1300 (D)X 1260

Find the C.I. of ¥ 7500 at 4% per annum for 2
years ?

T 7500 1 4% At =TS ki R H 2 T | =g G s
o T B ?

(A)X612 (B)X¥ 600

(C)X 618 (D)X 624

Compounded Interest on a sum of money is %

1
350 in 4 years at 33 g% per annum. Find the

sum ?

T 33é% i At o & s

¥ 350 ¥, o Jerue 1 i 2

(A)X 168 (B)% /165

(€)% 230 (D) 3162

T 2500 was borrowed for 3 years. What will be
the compound interest if the rate of interest
for first year is 3% per annum, forfSecond year
is 4% per annum|and for third'year is 5% per
annum respectively ?

¥ 2500 W =hgfg AN Tt W 3 T 916 foha =wskafs
ST <A1 BT 2 A& &8 Tt | 3% A, THE A0 4%

Afes ST AR e 5% AMFET |
(A)T311.85 (B)Z312.85
(C)Z310.90 (D)Z311.90

On what sum will the compound interest for

1
25 years at rate of 10% p.a. is¥6350.50?

TS S - 2% Tt E 109 wh o = v =Rt
=1 T 6350.50 21T ?

(A) T 23485

B) T 23477

Q)

323478

(
(
(D) T 23577

6.

10.

The compound interest on ¥ 5000 for 3 years at
8% for first year, 10% for second year and 12%
for third year will be—

¥ 5000 R 3 I 9IG FHI(G SATST ST BT 2 A =TT it
W IEA T4 8%, T T8 10% T AT o 12% 7T |

(A) T 1652.83

(B)Z 1652.73

(C)% 1652.80

(D)T 1652.77

In 3 years ¥ 3000 amounts 103993 atx% com-

pound interest, compounded ‘annually. The
valtie of x is?

Aiftren w9 H T80 00 @ht AT x% =Rl S <X
v 3 o § T 3993 7S € X &1 A/ S
(A) 10 (B) 8

1

(D) 33

If Rs.10000 amounts to Rs. 11664 invested in
compoundinterest (compounded annually) for
two\years. Then find the annual rate of com-
pound interest ?

3fg T 10000 =i T 2 T4 F =hgis = W (afiss &9 9
A )T 11664 81 St 7, T =ehdfs st i a1fies o

(€) 5

ARy ?
(A) 10% (B) 9%
(C) 8% (D) 6%

In what time ( in years) will ¥ 8000 amounts to
T9261 at 5% per annum, compounded annu-
ally ?

T 8000 =t TR 5% i =nfii =ehafg = & W H fwaa

o (Tut) § T 9261 €1 s ?
1
(A) 3 (B) 35
1
(C) 4 (D) 45

If amount becomes 2.25 times of principal after
2 years at compound interest (annually) Then

what is rate percent per annum?

% =Ihats samst (Wi o St ) & 2 ot & qve fagee
AL T 2.25 T ET ST S, T oAtk ST ot o ¥ —

(A) 25% (B) 30%

(C) 45% (D) 50%
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13.

14.

15.

l1e6.

17.

Mother's 3{&7fOr@ » Compound Interest

The compound interest on ¥ 30,000 at 7% per
annum for n years is ¥ 4347. The value of n is

Z30,000 TR 7% afties W n ! = fow wsrafs
=11 T 4347 © | i %1 A 3T 2

(A) 3 (B)2

(€ 4 (D) S

The sum for 2 years gives a compound interest
of ¥ 3225 at 15% rate. Then sum is?

foreht emRifir R 2 o % fow 15% &t R R =skafs s
3225 foerar & | qa uf¥n /= gt 2

(A) 10000 (B) 20000

(C) 15000 (D) 32250

The compound interest on ¥ 4000 for 4 years at
10% per annum will be

T 4000 =t T 10 =nfiew =t R H 4 79 = =R ls =N

B ?
(A) % 1856.40 (B) T 1600
(C) T 1856 (D) T 1756.60

The compound interest on I 64,000/- fox 3
years, compounded annually at 7.5% p.a.is:

¥ 64,000/- =t U W 7.5% o %t T 3 I®
=rehdfg e (TS wife o St famen e B)afearenm 2
(A) X 14,400/ - (B) X 15,705/=

(€)% 15,507/ - (D)X 15,075/ -

The amount of ¥ 10,000/- after 2\years, com-
poundéd annually with the rate\of interest be-
ing 10% per annum during the first year and
12% per annum'during the second year, would
be (in J?

aTfter T R ST ST =k s, o T, Tored Tect o
i =S X 10% Bl SR T8 a8 ot AT R 12% S 2,
@ T 10,0007t 311 2 o 3 g= (X H ) FMEAT 2
(A)X 11, 3207- (B)¥ 12,000/-

(€)% 12,320/- (D)X 12,500/ -

At what compound interest rate per annum will
a sum of ¥ 1200 will become ¥ 1348.32 in 2
years?

RGNS = fohd A1 R 1200 T A2 i # T
1348.32 =1 wmrit ?

(A) 6.5% (B) 4.5%

(C) 6% (D) 7.5%

Hemant singh invested an amount of ¥ 20000
at compound interest 10% p.a. Find the total

2
amount he will get after 2§ years?

18.

19.

20.

T g 7 T 20000 =1 10% =it wshdfs e i U 9

zgaﬁmﬁamm.fwmmw

(A) 24000 (B) 24968
(C) 26620 (D) 25168

Surendra invested ¥ 20,000 at a rate of C.I.

1
6 Z% p.a. for 2 years 73 days. Find the C.I.?

. 1
&= 7 ¥ 20,000 = 6Z% T =Rgle &S X 9 2

o 73 f& % fau o fven | =he s <oy s ?

(A) 265.5 (B)2860.35

(C) 234.5 (D) 2510.5

Anand gave 30,000 and 50,000 as a loan to
Avadhesh andypYogendra for twogyears under
compound interest. For Avadhesh the rate of
interest was 6% for the first year and then 10%
on the total.amount due for the second year.
For Yogendra, the rate of interest was 8% for
the first year and 12% on the total amount due
for the second year. If Yogendra had returned
30,000 at the end of the first year and Avadhesh
returned the entire amount at the end of sec-
ond year. How much more interest did Yogendra
pay than Avadhesh?

aFe 30,000 3R 50,000 AT STE8Y U6 IS &l @
e % FTU wehafs =arsT R AT | STadeT o forg e o 6
THRG5 =S i 6% ¥, TR i ot # Foed orafyr (=t
o AT o) T 10% | AR % foe vem o it o @
8% e Tl o H et G (<2t h AT ek ) |
12% & | =1fe s wed o9 % 37 | 30,000 =i hidr g
IR 318 TR 9 % 37 H YU eI e a1 ¥, @ el
TR 7 STAEY G TR SART AST STG =l e 2

(A) 2,000 (B) 4,100

(C) 5,450 (D) 1,900

At what percentage rate, compound interest

compounded annually for a sum of% 40,000, will
amount to ¥ 44,100 in two years ?

T 40,000 =1 TF w=Ity fFe gfaed @ W auf # T
44,100 T ST STal =ars it 9 W =R ls R s

%7 (CPO - 2019)
(A) 2 (B)7.5
()5 (D) 4
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The compound interest on a certain sum in-
vested for 2 years at 10% per annum is
1,522.50, the interest being compounded yearly.
The sum is:

T 79 & fau 10% i =shafs = @ = e =t T
T Tafvem aets = a3 e =g ts st $1,522.50
B, TR TSt A 9§ RAG BT § | T B 9

FIST | (CPO -2019)
(A)% 7,250 (B)% 7,200
(C)% 7,500 (D) ¥ 7,000

The interest on ¥ 24,000 in 2 years compounded
annually when the rates are 8% p.a. and 10%
p-a. for two successive years is:

T 24,000 =! T W 2 a9 % fou =Rafs ==t = gm ?
e g o <At i T 8% Wiaed IR fgdta ¢ 10%

Hfererd &1 1 (CPO - 2018)
(A) T 3,994 (B)Z 4,512
(C) 5,040 (D) 5,866

Find the compound interest at the rate of 7%
p-a. compounded annually for two years on the
principal that yields a simple interest 0f394 50
for 3 years at 7% p.a.

fe Tt W R 7% i A 8 g9 % Al Tnemor e
29,450 T 1 7% =fti= X ¥ q o F 5w iR
T WA ekl oS! (a1 a2 (CPO - 2018)
(A) T 12,345.20

) ¥6,520.50

)T 10,127

D)% 12,678.40

A sum of Rs. 8,000/invested at 10% p.a. amount
of Rs. 9,261 ing@ certain time, interest com-
pounded half-yearly. What will be the compound
interest (in Rs.) on the same sum for the same
time at double the earlier rate of interest, when
interest is compounded annully ?

10% anftias =t it T R o9 1 2 8,000 T0& =t Ui,
I T DART SR W TG T 9 R T =
Sty H 9,261 T3 €SI € | S SRR i =1 L H
T X W 3A €T STafY i =k sAre fRan g, Atk
ST T A SR T AhI (5 ST S &F 2
(CGL(Pre.) - 2019)

(B
(C
(

(A) Rs. 2,520
(B) Rs. 2,480
(C) Rs. 2,560
(D) Rs. 2,500

25.

26.

27.

28.

29,

The compound interest on X 4,000 at the rate of 5%
p-a.is T630.50, then the time period is :

afe 5% wfies T H T 4,000 T =hais & T 630.50 7,
T 3Tafy it AT | (CHSL - 2019)

(A) 2 years/ = (B) 3 % years/ o

(C) 3 years/ (D) 1% years/ o

The compound interest on ¥ 4,000 after 3 year is I
630.50. Then the rate of interest compounded yearly is :
T 4,000 =1 TG <A, T 6! Hos T 630.50:8T ST
, T aitieh ®9 | =phdts = o el 2 (GHSLE-2019)
(A)7% (B)5%

(C)8% (D) 6%

What sum of money at compound interestiwill
amount to 34,680.08 in\three years if thefrate
of interest is 4% for the'first year, 5% for the
secondiyear and 6% for the third year ?
EHIT5 =S T A8 T4,630.08 BISTA & a2 shoe: Tea
TER T TR =7 B &S 3l X 4%, 5% T 6% B Al e

TR ;T R (CHSL - 2019)
(A)% 4,500 (B) T 4,800
(C)% 4,000 (D) T 3,500

Rahul'invested equal sums of money at compound
interest under two schemes A and B. Under scheme
A, the interest rate was 10% per annum and under
scheme B, the interest rate was 12% p.a. The com-
pound interest after two years on the sum invested in
scheme A was ¥ 1,050. How much is the interest
earned under scheme B after two years, if the interest
is compounded annually in both schemes ?

TgA 7 A iR B 79 < Aomietl § =hafs = W
UER FAUE 1 e e @ A | = 2 10%
afek oft ST AT B ® <A1 o 12% aftek off | qgaA A
=t % 9T A A H Fafi emaf o s 31,050 fher
s ST Areristl | =Aret A T W =shdts R S a,
T g Rl T T o 9IG Ao B H ey emafi w

=t fiver ? (CGL (Mains)- 2019)
(A)Z1,270 (B)Z 1,372
©)T1,722 (D)% 1,272

The compound interest on a sum 20,000 at 15% p.a.

2
for 2 5 years, interest compounded yearly, is —

TST 3t O AU =haf G SR W g, < 20,000 %
e, i 15% w22 A o s

M@ IS (CGL (Mains)- 2019)
(A)T9,098 (B)% 9,095
(C)Z8,8% (D)%9,000
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27.05

50%

Solution
oV 7. (A) ATQ.
= Prindi 1+—
1. (A) Amount Prmc1pal><[ 100] 3993 (100+x 3
O ¥ 3000 | 100
= 1352 = 100 3 )
5 _ 1352x100x100 . (Ej _ (100“‘] L (M]
= - 104 x 104 10 100 10 100
= 1250 =110=100 + x
2. (A) R, forCI=8.16% =x=10%
P =% 7500 T
R
8.16 . =P |1+ ——
So, CI=7500 x <5~ =% 612 8. QA P( 100]
2
R
3. (D) ATQ . = 11664 = 10000 | 1+ ==
1 100
350=P|(1+5] ~1
350 x 81 11664 R\ Y}
P=—"—"+1—=%162 )
175 210000 [ 100)
4. (D) ATQ
2 2
103 104 105 (RO 4R\ R 108
CI=2500 | 150 * 100 * 100 " 100 100 100 100
= 2500 [1.12476 - 1] Y 0s 8
= 2500 x .12476 = T 311.90 = = -1=
5. (B) LetPrincipal=P 100 100 100
1
Time# 25 years = 2 years + 1 half year - R= 1759 *100
Rate = 10% = 8% annual
10 o
Rate for 1 half'year= — =5% 9. (A) Letthetime =t
2 ATQ,
21x5 .
So, Reff. =21 +5 + =27.05% (1+ij 9261
ATQ, 100 8000
27.05 %q0f P = 6350.50, ¢ 3
21y (21
_ 6350.50 x100 = 20 = |20
27.05 Lo
P = 23476.89 - - oyears
P = 23477 10. (D) 1
Rate (R)= {(n)T —1}><100
6. O ATQ
108 110 112 | - P
CI=5000 | 700 * 100 * 100 0= times of &
T=Time
a 5000{27X11X28 1}
=Cl= XX 1
25 10 25 R = {(2.25)2—1}><100
= CI =1652.80
6350.50 = (1.5-1)x 100
= P=———x100 =3 23476.89 ~ T 23477

HEAD OFFICE : J-7, Himmat Nagar, In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



11.
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30000 +4347 (107 9
30000 1100

= 30000 | 100 ] — 10000 | 100

_, (107 (107 o
100 100 | T eyears

34347 [107j“ 11449 [107j“

12. (A) Absolute Interest rate for 2 years

15%x15
=15+15+ =32.25%

100

ATQ,
32.25% of sum = 3225
= sum =< 10000

13. (A) R for4yearsCl=46.41%

1
100~ 31856.4

So, CI=4000 x

o 7.5Y
14. (O) Required interest =64000||1+——| -1

1
15. (C) Required amount = 10000[1 +%} {H—Q}

16. ()

100

3 3
- = - | 4
64000{( 4oj }

(43)° —(40)3}
64000

= 7950764000 =X 15,507/ -

=64000 {

100
10000 Lo 12,320
= X —= y —— = -
1007100 320/
Accordingly to question-

1348.32 { R T
1200

11236 {1+ R T
= 10000 100
(o] - ()
= 100 100
R 106
= 100 100
= R = 6%

17. (D)

18. (B

19.°(D)

20000

2000 2000 | 2000

\Nzoo
CMZOO 2420
=20.....

2
As there is only 5 part of 3rd year. So C.1. for 3rd

. 2
year is 2420 x 5= 3968

Total compound interest =4200 + 968,= X 5168
Amount = 20000 + 5168 #X 25168

20000

123001 1250

78425 |
781125 078125 |

1250

3rd year C/A, =1411.13

1
Clof 73 days = 1411.13 x 5 282.22

So, total CI = 2500 + 78.125 + 282.22 =% 2860.35
Interest paid by Avadhesh =

106 110
30000 X —— x ——-30000 =
100 100 4980

Interest paid by Yogendra

= 50,000 x +

100

(50, 000x 228 | 50,000 30, oooj « 12
100 100

= 4,000 + 2880 = 6,880
Yogendra paid (6,880 - 4,980) =3 1,900 more as
interest than Avadhesh

ATQ,
44100 RY 21 R
——=|1l+—| = —=1+—
40000 100 20 100
= R=55%
Rate = 10%; T = 2 years
Effective C.I.% =21%
So,

1522.50
The sum = x100 =T 7250
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10x8
100

22. (B) Reff=8+10+

=18+0.8=18.8%

100

Interest = 24000 x

=4512
23. (B) As we know
p= ST % 100
RxT

p- 9450 < 100
7x3
=45000 X
= P =45000, R="7%,
Reff=14.49%

CI=45000 x 1449
100

=6520.50%
24. (C) P=800,T=3/2ye

= X
“f 4000
= 15.7625%

So Rate/annum = 5%
104 105 106
X X —— X ——
100 100 100
P=4000

28. (D) 2yreffectiverate for10% =21%
2 yr effectiverarte for 12% =25.44%

27.(C) P = 4630.08

1050
D3

x 2544 =1272

29. (B) P=20000
R=15%
1st year — 3000
2nd year — 3000 450
3rd year — 3000 450 450

2
Total Interest for 25 year

= 3000 + 3450 + 2645 = 9095

67.5
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